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A pump can fill a tank in 3
hours. Because of leak in the
tank it took 4 hours to fill the
tank. If the tank 1s full, how
much time will the leak take to
empty the tank ?

(I) 12 hours v
(2) 7 hours

(3) 8 hours

(4) 10 hours

A sum of money on compound
interest amounts to X 6,941 in 5
years and ¥ 6,310 in 4 years.
Then the rate of interest is

(1) 6%

2) 8%

3) 10% v

4) 12%

Considering the sums of the first
three column, the value of A in
the following table is

113 ]3] A
21419110
11214 6

1) 8

2 9 v

3) 10

4 11

(3-A)

4.

A man purchased sugar worth

3 400. He sold %th at a loss of

10% and the remainder at a gain
of 10%. On the whole, he gets

(1) alossof 5% v
(2) aloss of4%

3)

a gain of 4%

1
(4) aloss of 45%

While measuring the side of a
square an error of 10% in excess
i1s made. The error percentage in
the calculated area is

(1) 20%

2) 21% Vv

3) 22%

4) 10%

Two equal glasses filled with
mixture of milk and water in the
proportion of 2 : 1 and 1 : 3
respectively are emptied entirely
into a third container. What is
the proportion of milk and water
in the third container ?

() 11:13y
2) 11:12
(3) 13:11
@) 12:11
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A container contains 40 litres of
milk. From this container 8 litres
of milk was taken out and
replaced by water. This process
was repeated two more times.
Then the quantity of milk in the
container is

(1) 16 litres

(2) 16.28 litres
(3) 18.38 litres
(4) 20.48 litres

The calendar for the year 2007
will be the same for the year

(1) 2014

(2) 2015

(3) 2017

@) 2018 v

The traffic lights at three
different circles change after
25 48

If they all change

4 seconds, seconds,
seconds.
simultaneously at 2:20 am, then
they  will

again  change

simultaneously at

() 2.30 a.m.
(2)
3)
4)

2.40 am./
2.50 a.m.
3.00 a.m.

(5-A)

10.

11.

12.

The ratio of the ages of a father
and his son after 10 years from
now would be 5 : 3, while 10
years ago it was 3 : 1. What is
the ratio of the age of son to that
of father today ?

(1) 1:2v
2) 2:3
3) 1:3
4 3:5

of 110
students of a college is 55 kg.

The average weight

The average weight of the boys
and that of girls are 61 kg and 50

kg Then the
number of girls in the college is

(1) 55
2) 60V
(3) 65
4) 70

respectively.

A batsman makes a score of 101
runs in the 18" innings and thus
increases average by 4. His
average after 18" innings is

(1) 32
(2) 3 v
(3) 34
4) 97
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In an examination, 60% students
passes 1in Physics and 60%
passed in Chemistry. If 50%
students passed in both Physics
and Chemistry, then percent of
students failed in Physics and
Chemistry is

(1) 10%

(2) 20%

3) 30% v

4) 50%

In the Rio Olympics 2016, who
finally defeated P.V. Sindhu and
got gold medal in badminton ?

(1) Agnes Isabella
(2) Damel Anupama
(3) Carolina Marin v/
(4) Saina Nehwal

Which one of the following
country’s king Bhumibol
Adulyadej, the world’s longest
reigning monarch, died in
hospital in the month of October
2016, as per the announcement
made by the palace ?

(1) Indonesia
(2) Malaysia
(3) Myanmar
(4) Thailand v

(7-A)

17.

18.

16. In the month of October 2016,

the cabinet approved the 20"

Indian institute of Management,

established in

(D
2)
3)
4)

Bijapur
Gulbarga
Mandya

Jammu /

Oliver Hart and Bengt Holmstrom
received this year’s (2016) Nobel

Prize for their contribution in the

subject matter of

(D
2)

Chemistry

Economics v

3)
4)

Mathematics

Physics

The recent Maternity Benefit
(Amendment) Bill of 2016 seeks

to increase paid maternity leave

from the existing

(1)
2)
3)

5 weeks to 10 weeks
6 weeks to 12 weeks

12 weeks to 26 weeks ./

4)

18 weeks to 26 weeks
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Who among the following is not
in the list of three women fighter
pilots, who were inducted the
first time in the Indian Air Force
in the month of June 2016 ?

(1) Avani Chaturvedi

(2) Anupama Rawat v/

3) Bhawana Kanth

(4) Mohana Singh

With regard to the Goods and
Services Tax (GST) in India, which

one of the following is not true ?
(1) GST 1s going to be an
indirect tax.

There  will  be
components-central
and State GST.
Rajya Sabha approved the
GST on 3™ August 2016.

No threshold level turnover

2)

two
GST

3)
C))

is fixed for exemption from

GST. v

Aung San Suu Kyi
1. 18 the name that has been
derived from three of her

relatives
1. 1is a Burmese states woman
mi. is/was President of the
National League for
Democracy

received Nobel Peace Price
in 2016

Choose the correct answer.

(1) Only 1iis true.

(2) Only 1 and ii are true

(3) Only i, ii and iii are true v/
(4) All of the above

1v.

©-A)

22,

23.

Which one of the following
countries complained in 2013 to
the world trade organisation that
the Jawaharlal Nehru National
Solar Mission subsidies were
available only if developers used
equipments produced in India
and it was violation of key
global trade rule ?

(1)
2)
3)
(4)

Australia

China

Pakistan

United States of America /

Match the following :
Event

A. United Nations L.
climate change

conference (COP-
21) at Paris

Year
1979

II. 1992
III. 1997

D. First world climate IV.2015
conference at

B. Kyoto Protocol

a

Rio Earth Summit

Geneva
V. 2016

Codes :

A B C D
(HhIv I o 1y
@ Iv 1 o v
G Iv 1o m v
4 Iv VvV 1II 1
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Which one of the following
currencies does not find place in
the basket that determines the
value of the Special Drawing
Rights of International Monetary
Fund ?

(1) Japanese Yen

(2) Indian Rupee v

(3) US’ Dollar

(4) UK’s Pound Sterling

Give the correct chronological
order :

A. Communal Award
B. Simon Commission

C. First Round
Conference

D. Gandhi-Irwin Pact
(1) A,B,CD

2) B,A,C,D

3) B,C,A,D

4) B,C,D,AvV

Table

Who led the revolutionary
Yugantar Party, which tried to
consume its resources and build
international contacts so as to
organise a real  military
conspiracy at an appropriate time ?

(1) Jatindranath Mukherjee v/
(2) Sachindranath Sanyal

(3) Rashbehari Bose

(4) None of the above

27.

28.

(11-A)

Some of the important leaders of
the Indian National Movement
and their areas of activity as

mentioned below :

A.
B.
C.
D.

G.V. Joshi — Bombay
Anandacharlu — Madras

K.T. Telang — Poona
Dwarkanath Ganguli — Calcutta

Select the code for correct pairing :

(1)
2)
3)
4)

The
Movement
leaders

A and B
B and C
Band D vV

Cand D

end of the Swadeshi
saw most of its
disappear from the

nationalist scene :

A.

B.

a

Select

B. G. Tilak went to
Mandalay Jail.

Aurobindo  Ghosh  took
temporary retirement from
politics.

B.C. Pal went abroad.
Lajpat Rai was implicated

in a revolutionary
conspiracy case.

the code for correct

statements :

(D
2)
3)
4)

A and B
Only A v

Only C

Cand D
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29. The Cabinet Mission was sent to 31. The statements talk about the
India revenue settlements and the
A. to establish a national areas in which they operate

government under the British :

B. to work out a constitutional

A. Permanent — Bengal,
arrangement for the transfer
of power Zamindari Bihar,

C. To accede to Jinnah’s Settlement Orisa
demand for Pakistan and to B. Temporary — Central
work out its details ) ) )

Zamindari India,

D. None of the above. Settlement Awadh

Select the correct answer :

C. Ryotwari — Bombay

(1) Only B

Settlement South,

(2) AandB v South

(3) OnlyC Western

(4) Only D India

D. Mahalwari - Western

30. While referring to the Morley- Settlement UP, Punjab
Minto Reforms, who remarked and Delhi
(if it could be said that this
chapter of reforms led directly or Select the code for correct
necessarily to the establishment statements -
of a parliamentary system in '

India, I would have nothing at all (1) AandD

to do with it ?

(1) Morley v (2) A,CandD

(2) Minto (3) AandC

(3) Crave (4) A,B,CandD v

(4) Curzon

133 (13-A)
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works are mentioned below :

A.Kalidasa — Mudrarak-
Shasa

B. Varahmihira - Panch-
siddhantika

C. Sudraka — Ritu-
samhara

D.Vishakhadatta — Mrichchha-
katika 35,

Select the correct options :

(1) Only A is correct

(2) Only B is correct

(3) B and C are correct

(4) Only D is correct

The stronghold of various Sufi

orders are given below :

Select the one wrongly paired :
(1) Chisti — Delhi and Doab
(2) Suhrawardi — Sind

(3) Auliya — Madhya Pradesh v/

(4) Firdausi — Bihar

(15-A)

34.

Which of the following were not
the members of Parliament at the
time of their appointment as
Prime Minister ?

A. Indira Gandhi

B. P.V. Naramsimha Rao
C. H.D. Dev Gowda

D. Morarji Desai

Select the correct answer from
the following codes :

(1) AandC
(2) BandC
(3) B,CandDV
4) A,B,CandD

Consider the following

statements regarding no-

confidence motion 1in the

Parliament :

A. There 1s no mention of no-
confidence motion in the
constitution.

B. A period of 6 months must
elapse between the
introduction of one no-
confidence motion and
another.

C. At least 100 members must
support a motion of no-
confidence before it 1is
introduced in the home.

A motion of no-confidence

can be introduced only in
Lok Sabha.

A and B are correct.

A, B, C and D are correct.
A, B and C are correct.

A and D are correct.v

(1)
2)
3)
(4)
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36. The term of Lok Sabha can be
extended beyond normal term of
5 years

(1) by the President at his
direction

(2) by the President on the
recommendations of

Election Commission

(3) by the President during all
type of emergencies.

(4) by the Parliament during

national emergency. ,/

37. Which of the

amendments contains
Court’s power of Judicial review

(1) 42" Amendment
(2) 44" Amendment
(3) 29" Amendment

(4) None of the above

38. A member of a state public
service commission can be
removed on the grounds of
misbehaviour only after an

enquiry conducted by

(1) a committee appointed by
the President

2)
3)
4)

the Supreme Court of India
the High Court of India ./

a committee appointed by a
Governor of the State

133

following
Supreme

39.

?
40.

(17 - A)

A new state can be created in
India

(1) by a simple majority of
Parliament

(2) by a simple majority of
Parliament and approval of
majority of the states.

(3) by a two-thirds majority in
Parliament

(4) by a two-thirds majority in
each house of parliament

and approval by a majority
of states v/

Which of the following has been
wrongly listed among the special
powers of the Rajya Sabha ?

(1) Revolution for the removal
of the Vice President of
India can be initiated only

in Rajya Sabha.

(2) Revolution for creation of
new All India Services can
be initiated in the Rajya

Sabha only.
3)

Laws on any subject of
state list can originate only
in the Rajya Sabha if it is
satisfied that it is necessary

to do so in national interest.

(4) None of the above v
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Which is the focus country in the
2016 India International Trade
Fair (IITF) ?

(1) South Korea

(2) Belarusy

(3) Cyprus

(4) Malaysia

LinkedIN has signed M.U. with
which Union Ministry to create

job for students ?

(1) Ministry of skill
development and
entrepreneurship

(2) Ministry of Home Affairs

(3) Ministry of Women and
Child Development

(4) Ministry of Human

Resource Development |,

(19-A)

43.

44.

45.

The
Oriental College was founded in
1875 at

Muhammadan  Anglo-

Calcutta
2)
3)
4)

(1)
Aligarh v/
Delhi

Agra

Robert Clive assigned the task of

a general survey of newly

acquired Bengal territories to
(1) William Lambton
(2)
3)

4)

Alexander Cunningham
Colin Mackenzie

James Rennell v

‘Durgeshnandini’ was authored
by

Bankim Chandra
Chattopadhyay ,/

(1)

2)
3)
4)

Sharath Chandra Chatterjee

Aurobindo Ghosh

Rabindranath Tagore
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Who among the following asked 48.

Congressman’ to accept Partition
as an unavoidable necessity .....
but to fight it in the long run by

not accepting it in their hearts’ ?
(1) Mohammad Ali Jinnah

(2) Mahatma Gandhi v/

(3) Sardar Patel

(4) Jawaharlal Nehru

Match the cricketers with their
books :

I. Cricket My A. Rahul

Style Dravid
2. Runs’n Ruins B. Yuvraj
Singh
3. Playing It My C. Sunil
Way Gavaskar
4. Timeless D. Sachin
Steel Tendulkar
E. Kapil Dev
Codes :
1 2 3
() b C A E
2 E C D Ay
3 B E C
4 C A B E

21 - A)

49.

Which of the following is NOT a

national identity symbol ?
(1) Banyan Tree

(2) River Dolphin

(3) Mango

(4) Elephant /

Match the festivals with places

where it is celebrated :

1. Float Festival A. Tamil Nadu

2. Rose Festival B. Bihar

3. Puskar Fair C. Kerala

4. Pooram D. Chandigarh
E. Rajasthan

Codes :

() A D E Cv

2 C D B A
3 E C A B

4 D A C E
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(1)

frozen carbon dioxide v/

2)

3)

4)

concentrated sulphur

dioxide

chemically distilled water

frozen at sub-zero
temperature
hard water with o1l

substances and saw dust

Locate the system developed
by DRDO with its nature (name)

/ purpose :
1. Brahmos A. Electronic
Warfare system
2. Pinaka  B. Pilotless Target
Aircraft
3. Lakshya C. Multi-Barrel
Rocket System
4. Sangraha D. Supersonic
cruise missile
E. Mid-air  refuel
aircraft
Codes :
1 2 3 4
() E A D E
2) D C B AV
3 D E A C
4 C B E A

(23-A)

53.

celebration days
them.

52. Match the personalities with the

associated with

1. Rajiv A. Pravasi Bhartiya
Gandhi Divas

2. Sardar B. Sadbhavana
Vallabh- Diwas
bhai Patel

3. Ch. C. Rastriya Ekta
Charan Diwas
Singh

4. Mahatma D. Kisan Diwas
Gandhi

E. Vijay Diwas

Codes :
1 2 3 4

() C E B D

2) B C D Av

B3 E C A B

4 D A E C

Identify the countries with their

currencies :
1. Bangladesh A. Kyat
2. Denmark B. Baht
3. Thailand C. Kroner
4. Myanmar  D. Taka
E. Euro

Codes :

1 2 3 4
() B E D A
2 b C B Av
3 C E A B
4 A C D B
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56.
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Identify the sports persons with
their sports events :

1. Karnam A. Basket Ball
Malleswari

2. Satnam B. Kabaddi
Singh
Bhamara

3. Rakesh C. Weight
Kumar lifting

4. Vijender D. Boxing
Singh

E. Table Tennis

Codes :
1 2 3 4

() b C E

2 C A B Dv

3 B E A

4 E B C

Kitabi-a-Navaras a book on

music written by

(1) Tbrahim Adil Shah IV

(2) Yusaf Adil Shah
(3) Ismail Adil Shah

(4) Ali Adil Shah

56.

57.

58.

25-A)

Totada Siddhalingeshvara
Temple at Edevure decorated

with paintings of

(1) Ashtadikpalakas v/

(2) Chaturdikpalakas
(3) Panchadikpalakas

(4) None of above

Rambha she was distinguished

dancer during the ruler of
(1) Bahmanis

(2) Adil Shahis ./

(3) Vijayanagar

(4) Mysore Wadeyars

During following festival there

were dancing women who
danced and wrestled before the

king of Vijayanagar :
(1) Dipavali

(2) Mahanavami v/

(3) Holi

(4) Yugadi
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59. Match the List — I and List — II 60. Match the List — I and List — II

and select the correct answer by and select the correct answer by
: _ using the code given below :
using the code given below :
List -1 List — IT
List -1 List — IT
(Peaks) (Range)
(Theories) (Author) a. K2 Peak i. Aravalli
a. Least Cost i Von b. Gasherbrum ii. Karakoram
Theory Thunen’s c. Kaimur Hills 1ii. Karakoram-
Ladakh

b. Locational 1i. J.C. ,
d. Mt. Abu iv. Baghelkhand

Theory of Weaver’s

Demand Codes :
a b ¢ d
c. Crop 1i1. Losch’s o
(1) 1 1 1iv
Combination
Method 2) 11 it v iV

3) i1 v qi i
d. Location of iv. Weber’s e ) )
4) m 1 1 iv

Agricultural
Activity
61. Which one of the following
Model )
statement 1s not correct ?
Codes : (1) Rajasthan is the largest
state of India in area.
a b ¢ d

(2) Madhya Pradesh 1is the
(1) iv i i1 iy second largest State of
India in area.

@m v o1 (3) Maharashtra is the third

B) i i i v largest state of India in area.

(4) Karnataka 1is the fourth
largest state of India in area. ./

@ i i iv i

133 (27 - A)
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Examine the following
statements and select correct
answer the code given below :

1.  About 50 percent of India’s
population is concentrated
in only 10 percent of the
area.

2. The urban population of
India is about 28 percent.

3. India’s 65 percent of the

urban population 1S
concentrated in class one
cities.

Codes :

(I) 1 and 2 are correct
(2) 2 and 3 are correct
(3) 1 and 3 are correct

(4) 1,2 and 3 are correct \/

Match List — I with List — I and
select the correct answer using
the code given below :

List—1I List — 11
(Ore) (Place)
a. Copper 1. Kudremukh
b. Iron 2. Balaghat
c. Manganese 3. Kodarma
d. Mica 4. Khetri
Codes :
a b ¢ d
(Hh 12 4 3
2 2 3 1 4
G 4 1 3 2
4 4 1 2 3V

(29-A)

64.

65.

Examine the following statement
and select the answer using the
code given below :

1. The Peninsular India was a
part of the Gondwanaland.

2.  The Gondwana consists of
South Africa, Australia,
Antarctica and India.

3. The Gondwana
northward  during
Carboniferous period.

Codes :

(I) 1 and 2 are correct

(2) 1 and 3 are correct

(3) 2 and 3 are correct

(4) 1,2 and 3 are correct v/

drifted
the

Examine the following
statements and select the correct
answer using the code given
below :

I. The Southern most point of
India’s is known as Indira
Point.

2. The Northern most point of
India’s i1s known as Indira
Col.

3. The eastern most point of
India’s is known as Walong
Town (Arunachal Pradesh)

4. The western most point of

India is Rajheera Creek
(Rann of Kutch)

Codes :

(1) 1,2 and 3 are correct

(2) 1,2 and 4 are correct

(3) 1,3 and 4 are correct

(4) 1,2,3 and 4 are correct v/
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Match List — I with List — IT and
select the correct answer using
the code given below :

List - I List — IT
(Mangrove) (State)
a. Loringa 1. West
Bengal
b. Sundarban 2. Odisha
c. Mahanadi 3. Karnataka
Delta
d. Kundapur 4. Andhra
Pradesh
Codes :
a b ¢ d
(h 12 4 3
2 2 3 1 4
3 4 1 3 2
4 4 1 2 3V

Which among the following
temples of India is known as

black pagoda ?

(I) Chennakeshava temple,
Belur

(2) Jagannath temple, Puri

(3) Kamakshi temple,

Kanchipuram

(4) Sun temple, Konark v/

(31-A)

68.

69.

In which of the following state
the festival of horn bill is

celebrated ?

(1) Nagaland

2)

Manipur
Mizoram

3)

(4) Meghalaya

Contamination of drinking water

with  which the following
chemical cause Dblack foot
disease :

(1) Calcium
(2) Mercury
(3) Arsenic

(4) Nitrates
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QT3 méw—azﬁd oD

BT3RoAN

o

(1) DT Y DHREFE TIF N v/

(2) ODRTBRELODRT 2BRE

(3) D&es® Besnd

(4) o33f3c® Aeesd 3556

€920 T2

rijelospln
8;903:% DNE.

SRR EsR0aT

(i) WTO & 033
(i) GATT & 20TT}, T30
(iii)) GATT & T3S

(iv) UNCTAD 8 T3

RoFeIND :
(D @ @G G @Gv)
(2) (i) Gv) () @) VvV

(3) (i) (@) (1) (v)
(4) (1) @Gv) @) (D)



70. The difference between GDP
and NDP is

(1) Government Revenue

(2) Indirect tax subsidy

(3) Consumption of  fixed

capital /

(4) Transfer payments

71. Inequality of income is

measured by

(1) Engel Ratio

(2) Giffen Ratio

(3) Gini-Lorenz Ratio v/

(4) Gossen-Laffer Ratio

133

(33-A)

72.

73.

In recent years (2014-15) major

portion of India’s trade is with

(1) Asiaand ASEAN countries v/

(2) European Union
(3) Nordic Countries

(4) United States of America

Choose the option with the right

chronological order :

(1) Formation of WTO

(11) Uruguay Round of GATT
(i11) Formation of GATT

(iv) Formation of UNCTAD
Codes :

(1) @) (@) 1) (Gv)

(2) (i) (v) (1) (1) v

(3) (i) (1) (1) (@v)

(4) (1) @Gv) @) (D)
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RO
eﬁoﬁaﬁa’m@.
(i) SBeedor® odremod TT0y

(1) oSrexIANoT
208,330303ENR SNee s
FAEDT ~  DBSHNR
eepintel

(1v) odnpexme TEOD FreRD
RoZeIND ¢

(1) ) @Gi) @v) (i)

(2) (i) @Gv) @) (i)

) Gi) (v) O @Ghv

4) () (@(i) @) (@[1v)

el émgpm
oFodeend I Je Tedoday 1T e
@—-Ségo&@o&ﬁ RO BROJR.

EDISPINT Ilack-leMoletalal

(iii)

e,—-a‘é,g -1 ?’3% -1I
a. ToONoIxT® 1. @hewLle3
FTASE) ROTONENY
@@%@oﬁa
DD
2TOND
b. ITROoBI® . Q=2
TR RTIOEN
C. ??G%?&Ue TN  111.0E3S
L90CTIITINLD
d. 536@0@3@) 1V. DTIRD
FPANE! DOV
RTIOBEN
Toe3Ned :
a b C d
(1) i iv i Vv
2) w1 1 1V
3 i i iv
4) i 1 1v 1

mms@g

Hodesnvay

(34-A)

76.

77.

TR EIT wcﬁwéeﬁ WIT T0a)
FTIONE NS0T

. ®Bee3ny 30
)

2. ©9F9T30T
mc&raéemwaeﬁmf :ei)&
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Choose the option with the right
chronological order :

(1) Introduction of Rolling
Plan
(i1)) Shift from planning to

market mechanism

(i11) Feldman-Mahalanobis
model

(iv) Declaration of plan holiday
Codes :

(1) @) Gi) @v) (i)

(2) () (v) @) (i)

(3) (i) (v) (1) (@i) v

(4) 1) Gi) @) @Gv)

Using the codes given below
match List — I with List —IT :

List -1 List — 11
a. Rangarajan 1. PPP models of
Committee infrastructure
development
b. Narasimham 1ii. Insurance
Committee reforms
c. Kelkar ii1.Poverty
Committee estimates
d. Malhotra 1v.Financial
Committee sector reform
Codes :
a b C d

i v

Q) i i i iv

(D) i iv i

3) i Qi i v

@ i i iv i

76.

77.

(35-A)

The main functions of Karnataka

Udyog Mitra are
1. facilitating investments

2. creation of non-farm

employment opportunities

3. facilitating implementation

of investment proposals

4. facilitating provision of

employment linked

incentives

Select the correct answer using

the codes given below :
(1) 1,2 and3
(2) 2 and4 only

(3) 1and3onlyy

(4) 1,2 and 4 only

Ganga Kalyana Scheme aims at

promoting

(1) rain water harvesting

(2) linking of rivers

(3) major irrigation schemes

(4) community irrigation

schemes ,/




78.

79.
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25 FINSHNTO 03P IZNS ?

() 3 B 2% 1984 Tomd
W, Bt Oewof  Togest
BTIVETO mmémﬁ@& DRCT
T IITSEOTT.

(2) T3’ IJ[ETY RRCONE
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23T 0D IMONMY D083 :

Sl moE0ayE
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C. wda 1. Dery Qe
D. sz0n® IV, 9t 20gsd
TOBCIND :

A B C D
(H I 1v 1 1
oI 1 oI v

Gy I M 1 1V
@ M M IV Iy

(36-A)

80. =

UNIPried RS wmos
RAKAT  Budod oD,
AT ROOIPN BHOBRD

A. Bl L wom wxmhdecd3
BORoD 00T Todeen
QO30T TINT BRTDD

Etel/elEbleM IR
WOT TIODY
NBO/DT0Z
%%oﬁa@m@d@
BP0 WITHD
BOROOTIYHTTY
oxodlelatIrieravicta

B. 20z@3e II. 2,0% 00T
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A B C

() M 1 1
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3) I I 1
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78. Which one of the following is
wrong ?

79.

133

(D

On 3 April, 1984, Squadron
Leader Rakesh Sharma
became India’s first man to
go into space.

(2) Rakesh Sharma was
launched Soyuz T-1I
spaceship.

(3) The spaceship was launched
from Baikono Cosmodrome
in  Kazakhistan  (former
USSR).

(4) Rakesh Sharma was
accompanied by two

American Cosmonauts. v

Important of Indian cities :

City Importance
A. Agra I.  AMUL Dairy
B. Aligarh II. Taj Mahal
C. Allepy IHI. Lock Industry
D. Anand IV. Coir Industry
Codes :

A B C D
(Hh M 1v 1 1
2 o 1 o v
G oI m 1 1
4 oI o v I1v

(37-A)

80. The following are the Sir Isaac

Newton’s laws of motion. Match

them correctly :

A. The L. A body
First continue to be
Law of In a state of rest
Motion or uniform

motion along a
straight line
unless acted
upon by an
unbalanced
force.

B. The I[I. The momentum
second of a body is the
Law of product of its
Motion mass and

velocity and
has the same
direction as that
of velocity.

C. The III. To every action
third there 1s an
law of equal and
Motion opposite

reaction and
they act on two
different
bodies.

Codes :

A B C

(H) oI 1 1o

2 I 1 I

@) I o 1

4 I I 1 v
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A. oo L. 107
B. Sm 1. 10°
C. >»3» L 1012
D. a5y IV. 1018
HooIRT YBTP
ToZeINYD :

A B C D
(Hh or m v 1
@ o v o 1
Gum m 1 1vv
4 o mur v 1

82. 3INT BedIRvay TOMEIRD :

A. PT3T Toow  Sodeenwy)
2,000 TIRRRLTTRTTY T
%’o&mms 3 ~o~osae)

B. Recw @ddeeny) 1955 ©
T23Se300020.
C. w©uo ms.)éf—(gzi’ocﬁé’ Aplefcin]

m% méom@eafda
83 BINIYNTY 03P ED ?
(1)
(2)
3)
4)

A 393,

A 3 B s93, v

A3 C 303,
A, Bz C
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(38-A)

83.

84.

BRODY 2WTOND :
anb.22.5. d:os)?s TOONE
A. Q0055030 1. IS
TBLND
B. eﬁdyé wot3of 2. 33e é):%m’wé’)e
mé;-’meﬁ 3O
C. nea® 2em® 3. FEseod
Q03TT ATIOD
mg’@eﬁ
D. gpecfs 4. TORTIZF
Fo0%eSH FoF?
RoFeBNY ATAODHOT YVIFOR :
A B C D
(1 3 1 4 2V
o) 2 q 3 |
3) 3 2 4 1
4 2 1 3 4
2INI %e%mf@ Q@mﬁ

Qe BBOD AR0T FUHeTTT,

ROWORRTOZ TOMID :

A. 5 SRR, HBpR0 FFTI
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(I) A=03)B a%wg,

(2) Bawzy C mi\/

(3) A3y Cawg,

4) A,B3Cx=o




81.

82.
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Consider the following measures :
A. Tera I 107
B. Mega II. 106
C. Nano III. 102
D. Exa IV. 1018
The correct answer is :
Codes :
A B C D
(Hh I o I1v 1
@ m v o 1

Ga o1 1 Ivv
4 I ur v 1
Consider the following

statements :

A. The law commission of
India is a non-statutory and
non-constitutional body.

B. The first commission was
constituted in 1955.

C. It is headed by the Chief
Justice of India.

Which of the following is correct ?
(1) Only A

(2) Aand Bonly

(3) A and C only

4) A,BandC

83. Match the following :

NGO Major Work
A. MSF 1. Human
Rights
B. Amnesty 2. Third world
International empowerment
C. Green-peace 3. Medical aid
International
D. Ford 4. Environmental
Foundation concern
The correct answer is
Codes :
A B C D
(H 3 1 4 2v
2 2 4 3 1
3 3 2 4 1
@@ 2 1 3 4
84. Consider the following

statements related to ease of

doing business index :

A The ease of doing business
index is released by World
Bank once in 5 years.

B. A higher ranking of country
in this list means that its
regulatory environment 1s
more conducive and
favourable for the starting
and operation of firms.

C. India ranks lowest in doing
Business among the BRICS
nations.

Which of the following are

correct ?

(1) A and B only

(2) Band Conly v

(3) A and C only

(4) A, B and C are correct.

(39-A)
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The Central American country
that was involved recently in
multinational tax evasion

scandal  through law firm

Mossack Fonseca is
(1) Bahamas

(2) Ecuador

(3) Panama ./

(4) Cayman Islands

Consider the
statements

following
IMF
reforms that lead to change in its

related to

governance :
A. The  representation  of
emerging economics like
India, China, Brazil, etc.

was increased.

B. China will have 3" largest
IMG quota and voting share

C. Ended the category of
appointed Executive
directors.

Which of the reforms are correct ?
(1) A and B only
(2) B andC only
(3) A and C only
4) A,BandC VvV

87.

88.

41-A)

The Nobel Prize for 2016 in
Physiology or Medicine was
awarded for unravelling in the
1990s the underlying molecular
mechanism  of  autophagy.
Autophagy refers to

(1) cure for cancer
(2) ability to reproduce

(3) mechanism of hair and nail
grows

(4) self renewal ability of the
body. v

Match the following :
Code Name Project
A. Operation 1. South Sudan
Parakram Evacuation
Mission
B. Operation 2. Nepal
Sankat Earthquake
Vimochan 2015
C. Operation 3. 2001
Rahat Parliament
Attack
D. Operation 4. Yemen Rescue
Maithri Operation
2015
Codes :
A B C D
(Hh 2 4 3 1
2 4 3 1
33 3 1 4 2V
4 3 2 1
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Which among the following

doesn’t belong to UNESCO
World Heritage list ?

(D
2)
3)
4)

Fatehpur Sikri
Agra Fort

Mysuru Palace v/

Jantar Mantar

Consider the following statements :

India has been ranked 87

out of 144 countries on the

A.

World Economic Forum’s
(WEF) Global Gender Gap
Report 2016.

B. India has overtaken China
in the list.

C. The global march towards

parity in key economic
pillar has slowed down
dramatically.

Which of the above is correct ?
(1)
2)
3)
(4)

A and B only
B and C only
A and C only

All of them v

43-A)

91.

92.

93.

9.

The method that cannot be used

for removing

hardness of water is
(1)
(2)
3)

(4) boiling ,

permanent

adding sodium carbonate
distillation

adding caustic soda

The human body is made up of
several chemical elements; the
element present in the highest
proportion (65%) in the body is

(D
2)

(3) Oxygen v
4)

Carbon

Hydrogen

Nitrogen

The most electronegative

element among the following is
(1)
(2)
3)
4)

Sodium
Bromine

Fluorine ./

Oxygen

The function of haemoglobin is
(1)
(2)
3)
4)

to transport oxygen /

destruction of bacteria
prevention of anemia

utilization of energy
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(1) 42
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Kidney stones are mainly

formed by which of the

following compound ?
(1)
(2)
(3)
4)

Sodium chloride
Silicates
Calcium bicarbonate

Calcium oxalate /

The metal that is used as a
catalyst in the hydrogenation of
oils is

(1) Niv

(2) Pd

(3) Pt
4) Cu

The use of chemicals or drugs to
selectively destroy infectious
micro-organisms without
destroying the live tissues or the

host, is known as
(1)
2)
3)
4)

Chemotherapy /

Gene therapy
Drug therapy

Plastic surgery

98.

99.

100.

Which of the following
chemicals can be added for
sweetening of food items at
cooking temperature and does
not provide calories ?

(D
2)
3)
(4)

Sucrose
Glucose
Aspartame

Sucrolose v/

The sum of the four numbers is
72. If you add 5 to the first
number, 5 is subtracted from the
second number, the third 1s
multiplied by 5 and the fourth is
divided by 5, then outcome is
equal for all 4 operations. What
is the sum of the largest and the
smallest of the original numbers ?

(1) 42
2) 52V
3) 62
4 72

A number when divided by 39
leaves a remainder 28. If the
same number is divided by 13
the remainder is

(h 1
@2
3) 3
4) 4

45-A)
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133-A Note : English version of the instructions is printed on the front cover of this booklet.
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